S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

Rev. 1 -07/2018

Code: 00 20 01_0126.doc

IVECO ML260 Euro3 - Euro5

Spare parts catalogue
For 8 tons tag self-steering axle

Version 1

S.T. SYSTEM TRUCK S.p.A.

Quallity System Certificate
Page 1 of 19 IS0 9001:2015 FAKT
Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

Note

S.T. conversion code: 50.01.10.0005

Contents Page
REAR AXLE SUSPENSION ........oooiiiiii ettt ettt e et e e e ettt e e e s st e e e e e ste e e e enteeeeannteeeeaseeeeennnes 3
£ 2 ] OSSR 5
SELF-STEERING AXLE .........oooii ittt e e st e e e st e e e e sata e e e e aasaeeeeansseeasansseeesansseeaeanssanaeannsenas 6
VALVE GROUP SUPPORTING BRACKET ...........ooiiiiiiiiie ittt e e e e s e e ssae e e e snnnaeaesnnees 9
MODULATING VALVE SUPPORTING BRACKET .......cccoi it e e eee e e e 9
AIR TANK SUPPORTING SADDLE.............ooi ettt e et e st e e e e snte e eneeeennee e 10
BRAKE HOSES ..........oo it ee et e ettt s e ettt e st e e te e e smteeaseeesneeeanteeeanteeanseeeseeeanseeesaeesnseeansens 10
RV T S 11
ELECTROVALVE ...ttt e e e ettt e e e et e e e e aate e e e e asteeeesastaeeesastaeeesasteeeesasseeeesanseneesansenanans 11
DAMPENER ROD ...ttt e e sttt e e e sat e e e s aate e e e s asteeeesastaeeesasteeeesasteeeesassaeaesanseaeesassanaeans 12
MODULATING VALVE ...... ..ottt ettt e e st e e e st e e e e s saeeesansaeeesansseeeeansseeeeanssaeeeansseeesanneeas 12
7 5 7Y 02 I 13
7 5 7Y 02 I 13
PRESSURE TAKE-OFF ...ttt et et et s e e et e e e nteeste e e aneeesnseeenseeesnseeanneeesnseeanseas 14
LIMITING VALVE ........... oottt s e s st e e s te e e et e e smte e e seeesseeeanteeeasteeanseeeaneeeanseeasanesnsenansens 14
TANK WRAPPER ...ttt e et e e e ettt e e et e e e e e steeeeesteeeeesteeeeaseeeeeaseeeeeaseeeeeaseeeeennnes 15
WHEELNUT COVERING ..ottt ettt e ettt e e ettt e e e et te e e e ette e e e s nteeeeeseeeeeaneeeeeeneeeeennnes 15
24V MICRO RELAY ...ttt ettt e e et e e et e e e s st ee e e e ste e e e e s taee e e sseeaeenseeeeeanseeeeannseeaeennnes 16
SWITCH FOR BLOCKING THE STEERING AXLE ..........coooiiiiiiiee et eeee e 16
CHASSIS INSTALLED ELECTRICAL SUPPLY HARNESS ..........cccoiiiieeee e 17
CABIN INSTALLED ELECTRICAL SUPPLY HARNESS..........ccccii it 17
PROXIMITY SWITCH BRACKET ...ttt e e et e e s ee e st e e sneeesnteeennaeesnseeenneeesnseeenseas 18
[ 210 ) T L I A= 1 o 18
PRESSURE SWITCH ...ttt ettt e ettt e e et e e e s sate e e e sasteeeesateeeesasteeeesasseeaesanseneesanseneeans 19
BRAKE WEAR HARNESS IVECO CODE: 5802044597 ...........c.cooiiiiiiiiiiiiieecsieee e eeeeee e ssnteee e ssnteee e snnreeeeen 19
RED LED ...ttt ettt ettt e e ettt e e ettt e e e st e e e e e asteeeeeasteeeeaastaeeeasteeeeeanteeeeeanteeeeaanteneeeanreeeeans 19
R =3 0 T T 0 SRR 19

Flov. 1= 0772018 Page 2 of 19 S sonzos - (HKT

Code: 00 20 01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

REAR AXLE SUSPENSION

(S.T. CODE: 10.01.10.0013)

Pos. S.T. code Iveco code Description QTY
1 05102005 5802096667 SHOCK ABSORBER 2
2 10.07.00.0199 5802096679 AIR BAG SUPPORT 2
Rev. 1 - 07/2018 Page 3 of 19 Quality System Sertificat FKT
Certificate No.: 11 057 01

Code: 00 20 01_0126.doc



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

Pos. S.T. code Iveco code Description
3 17095135 WASHER @10 4
4 18185235 NUT M10X1.25 CL.10 4
5 05101012 5802096676 AIR BAG 2
6 18279335 SCREW M24x2x100 CL.10.9 2
7 01.01.00.0337 5802096694 PLATE FOR SHOCK ABSORBER SUPPORT 2
8 10.07.00.0149 5802096668 SHOCK ABSORBER UPPER SUPPORT 2
9 17154535 NUT M24x2 CL.10 4
10 10.18.00.0009 5802096682 U-BOLT M24x2x146x300 4
11 10.10.00.0009 5802096678 SPRING 2
12 17097724 WASHER @16x30 4
13 16643035 SCREW M16x1.5x60 CL.10.9. 2
14 16937135 SCREW M16x1.5x70 CL.10.9. 2
15 18279435 SCREW M24x2x200 CL. 10.9 2
16 10.07.05.0035 5802096681 SHOCK ABSORBER LEFT LOWER SUPPORT 1
17 42035579 NUT M24x2 CL.10 8
18 10.21.00.0046 5802124678 CRICK SUPPORT 2
19 17096235 WASHER @25x44 8
20 10.07.00.0263 5802124632 SUSPENSION SUPPORT ASSEMBLY 1
21 10.21.00.0048 5802106362 PLATE 2
22 10.21.00.0038 5802096687 PLATE 2
23 10.21.00.0036 5802096695 PLATE 2
24 10.21.00.0047 5802106363 PLATE 2
25 | 206000250000_G 5802096672 WASHER @=25x51x4 2
26 0334015270 5802096669 SPRING EYE BOLT M30x190 2
27 16666424 WASHER @=30x56 3
28 10459006 5802124684 SPRING EYE WASHER 5
29 0326015010 5802096670 NUT M30 2
30 10.07.10.0467 5802124672 ECCENTRIC WASHER 1
31 10.21.00.0037 5802096686 PLATE 2
32 10.07.05.0034 5802096684 SHOCK ABSORBER RIGHT LOWER SUPPORT 1

Rev. 1 -07/2018

Code: 00 20 01_0126.doc

Quallity System Certificate
1SO 9001:2015
Certificate No.: 11 057 01

Page 4 of 19




S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797
info@stsystemtruck.com
www.stsystemtruck.com

e-mail:

web:

Pos. S.T. code Description QTY
1 05710025 SILENT-BLOCK 1
2 10.09.10.0005 | SPRING BOLT (COMPLETE WITH NUT) 1

Rev. 1 -07/2018

Code: 00 _20 _01_0126.doc

Page 5 of 19

Quallity System Certificate
ISO 9001:2015 FAKT
Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

_ SELFSTEERINGAXLE

EEEERTDRRE) i
@ﬁﬁ\gggémﬁ
& .,

Gy e

NSy

ﬁ—@ ®

R,

=2

“em
-

¥R

(S.T. CODE: S08A072179)

_ Quallity System Certificate
Rev. 1 -07/2018 Page 6 of 19 [SO 9001:2015 4 “K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28
Tel. +39 0376 696809 - Fax +39 0376 1760180

P.1. 03117430235 - C.F. 02209770797
e-mail: info@stsystemtruck.com

web: www.stsystemtruck.com

Pos. S.T. code lveco code Description

1 17917115 REFILL CAP 2
2 7184091 HUB CUP 2
3 16707134 SCREW 2
4 7172933 AXLE NUT 2
5 7172943 RING 2
6 7172951 ROLLER BEARING 2
7 16683034 SCREW 24
8 7180797 HUB 2
9 42064818 WHEEL STUD 24
10 7189475 BRAKE DISC 2
11 7173030 SPACER 2
12 7172952 ROLLER BEARING 2
13 7185250 OIL SEAL 2
14 5801341081 CALIPER 1

15 5801341080 CALIPER 1

16 T.08028011 5802094702 SCREW 16
17 T.08038005 5802094709 WASHER 16
18 T.04034399 5802097208 BRAKET 2
19 T.08026001 5802097211 WASHER 12
20 T.08028135 5802097212 SCREW 12
21 T.12059390 500086210 KIT STEERING PIVOT 2
22 T.08039001 5802099552 LOCKING RING 2
23 T.04031001 5802099575 DISC 2
24 T.07030001 5802099579 O-RING 2
25 T.04032022 5802099584 STEERING PIVOT 2
26 T.04033086 5802099828 BUSHING 2
27 T.07030007 5802099931 O-RING 2
28 T.07030003 5802099941 O-RING 2
29 T.04033087 5802100725 BUSHING 2
30 T.04034088 5802100742 PUSHING RING 2
31 T.04034001 5802100745 PUSHING RING 2
32 T.08036005 5802100751 ADAPTER SLEEVE 4
33 T.04035001 5802100777 ADJUSTING NUT 2
34 T.08037001 5802100784 HEXAGON SCREW 2
35 T.07030022 5802101040 O-RING 2
36 T.04031002 5802101051 COVER 2
37 T.08020002 5802101744 SCREW 4
38 T.04027002 5802097227 RUBBER BUSHING 2
39 T.05058385 5802097465 STEERING KNUCKLE RH 1

40 T.05058386 5802097468 STEERING KNUCKLE LH 1

41 T.052631926 5802123390 AXLE BEAM 1

42 T.11045005 5802097514 LOCKING CILYNDER 1

Rev. 1 -07/2018

Code: 00 20 01_0126.doc

Quallity System Certificate
1SO 9001:2015
Certificate No.: 11 057 01

Page 7 of 19

@gs:_ )
=



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

Pos. S.T. code lveco code Description
43 T.04021375 5802097529 BUMP STOP 1
44 T.04021039 5802097826 ECCENTRIC PIN 2
45 T.08028077 5802123388 HEXAGON SCREW 2
46 T.090141382 5802123386 SPECIAL WASHER 2
47 T.08025001 5802097845 NUT 2
48 T.12245601 5802123394 TRACK ROD COMPLETE 1
49 T.04024004 5802097871 CLAMP 2
50 T.04023892 5802097960 LOCKING PLATE 1
51 T.04023846 5802097964 LOCKING PLATE 1
52 T.11044001 5802097973 SHOCK ABSORBER 1
53 T.08028005 5802098426 SCREW 2
54 T.08025007 5802098435 NUT 2
55 T.08025007 5802098436 HEXAGON NUT 2
56 T.09014776 5802098438 WASHER 1
57 T.07030040 5802098499 O-RING 2
58 T.04021001 5802098505 BUSHING 2
59 T.04042001 5802098518 NYLON BUSHING 2
60 T.04042002 5802098592 NYLON BUSHING 2
61 T.05013601 5802098596 COMPLETE ARM 2
62 T.08026024 5802098601 RING 2
63 T.08028005 5802098602 HEXAGON SCREW M20x90 2
64 T.08028033 5802099152 SCREW 2
65 T.08025004 5802099076 HEXAGON NUT M8x1,25 12
66 T.11094003 5802099082 WASHER 1
67 T.11094002 5802099088 AIR CONNECTION 1
68 T.05013006 5802099113 DISC WITH AIR CONNECTION 1
69 T.11041001 5802099114 PNEUMATIC SPRING 1
70 T.04063007 5802099136 HEXAGON SCREW M16x95 2
71 T.05013007 5802099140 DISC WITHOUT AIR CONNECTION 1
72 T.08025003 5802099144 HEXAGON NUT M16 2
73 T.08029001 5802099155 NUT 2
74 T.07040002 5802099147 GREASE NIPPLE 2
75 T.07040006 5802099130 GREASE NIPPLE 2

Rev. 1 -07/2018

Code: 00 20 01_0126.doc

Page 8 of 19

Quallity System Certificate
1SO 9001:2015
Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

VALVE GROUP SUPPORTING BRACKET

Yl

a6y i o i |
IVECO CODE: 5802095144

MODULATING VALVE SUPPORTING BRACKET

_,«.

IVECO CODE: 5802270728)

_ Quallity System Certificate
Rev. 1 -07/2018 Page 9 of 19 [SO 9001:2015 q “K‘I‘

Code: 00 20 01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

AIR TANK SUPPORTING SADDLE

BRAKE HOSES

IVECO CODE: 42040670

IVECO CODE: 99463290

_ Quallity System Certificate
Rev. 1 -07/2018 Page 10 of 19 [SO 9001:2015 4 “K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01




S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

IVECO CODE: 5801447604

ELECTROVALVE

IVECO CODE: 41025616

_ Quallity System Certificate
Rev. 1 -07/2018 Page 11 of 19 [SO 9001:2015 4 "K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

DAMPENER ROD

MODULATING VALVE

IVECO CODE: 582270734

IVECO CODE: 5801296736

_ Quallity System Certificate
Rev. 1 -07/2018 Page 12 of 19 [SO 9001:2015 4 "K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

BRACKET

IVECO CODE: 5802270730

BRACKET

IVECO CODE: 98465169

_ Quallity System Certificate
Rev. 1 -07/2018 Page 13 of 19 [SO 9001:2015

Certificate No.: 11 057 01

Code: 00 _20 _01_0126.doc



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

PRESSURE TAKE-OFF

LIMITING VALVE

IVECO CODE: 46086980

IVECO CODE: 47 0

_ Quallity System Certificate
Rev. 1 -07/2018 Page 14 of 19 [SO 9001:2015 4 "K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

TANK WRAPPER

IVECO CODE: 2519816

WHEELNUT COVERING

_ Quallity System Certificate
Rev. 1 -07/2018 Page 15 of 19 [SO 9001:2015

Certificate No.: 11 057 01

Code: 00 _20 _01_0126.doc



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

24V MICRO RELAY

(S.T. CODE: 05255501 — IVECO CODE: 98444017)

SWITCH FOR BLOCKING THE STEERING AXLE

(S.T. CODE: 5801654880 - IVECO CODE: 5801654880)

_ Quallity System Certificate
Rev. 1 -07/2018 Page 16 of 19 [SO 9001:2015 1 “K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.1. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

CHASSIS INSTALLED ELECTRICAL SUPPLY HARNESS

(S.T. CODE: 35.03.05.0092)

_ Quality System Certificate
Rev. 1 -07/2018 Page 17 of 19 [SO 9001:2015 ‘ r!!‘l'

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

_ PROXIMITYSWITCHBRACKET

(IVECO CODE: 5802124701)

PROXIMITY SWITCH

IVECO CODE: 5801268769

_ Quallity System Certificate
Rev. 1 -07/2018 Page 18 of 19 [SO 9001:2015 4 "K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



S.T. SYSTEM TRUCK S.p.A.

Trasformazioni e Soluzioni per Veicoli Industriali

| - 46048 Roverbella (MN) - via Paesa, 28

Tel. +39 0376 696809 - Fax +39 0376 1760180
P.l. 03117430235 - C.F. 02209770797

e-mail: info@stsystemtruck.com

web:  www.stsystemtruck.com

PRESSURE SWITCH

IVECO CODE: 5802123192

BRAKE WEAR HARNESS IVECO CODE: 5802044591

RED LED

(S.T. CODE: 05256001)

YELLOW LED

.
s

(S.T. CODE: 05256002)

_ Quallity System Certificate
Rev. 1 -07/2018 Page 19 of 19 [SO 9001:2015 4 "K‘I‘

Code: 00_20_01_0126.doc Certificate No.: 11 057 01



